Katalog nahradnich dilu

(JARUDAN

FT-03 - lemovani

@ anita

ANITA B s.r.o.

Hliniky 2068

680 01 Boskovice

Czech Republic

fax: +420 516 452 751

tel: +420 516 454 774,
+420 516 453 496

e-mall: iInfo@anita.cz



mailto:info@anita.cz

—_—————-—

4 DiFf. Fesd Oog

2 Moinn Feed Ih:ug

TiFf. Feed Tog [FR2S12  FESSI3 Muin Feed Dog FEZSIE FEESIZ
4.0 42 26 &AM Se21DF 03563 40 48 56 6.4 SECIFD03563
- Meedle Flote & Frezs Foot
Theend Plats| FEESIE FE2S13 Freas Foot FECSIE FBE2S13
4.0 SE20TPAZANE 41 S220PF3403
E S5a2aTPA3483 4.4 S2EDPFD3dES
& 522 0TPOZS63 =6 CREORFOASLY [S221PF DA5AT
£r.4 SEEOTROSE]S .4 OEEIFFO3643 (DEEIFF 03643

1.Collarette Knitted Binding

Ref.NoJParts No.| __Desoription __|Amt.Req

2210030101

Front Cover

2210030102

Dust Cover

Diff Feed Dog

Main Feed Dog

Needle plate

o oS ([W (N |-

Press Foot Asm.

Pl R~~~




A Folder Type

- T
AL SRSy
Folder Type

Two Fold [Three Fold Four Fole

“nrt Moo | 221F=0201 ceFRO01 =21FEg401

2.Folder and Tape Guide
Ref.No.| Parts No. \Amt.Req.

2210030201 Farbric Side Plate
8MM04281207A ||Screw (CT0202 M4-0.7*12)
2100030203 Dust Cover

8MB04280807K |[Screw (CT0215 M4-0.7*8)
2200030214 Fabric Silde Plate

90PWO050 Washer

mmbwml—\‘l
l—‘l—‘NI—‘NI—‘I




7 8MB05320710A |Screw (C030217 M5-0.8*7) 1
*8 - - Folder 1
9 2210030209 Folder Support 1
10 2200030206 FixingPlate 1
11 8MMO005321409A||Screw (CT0632 M5-0.8*14) 2
12 2200030202 Folder Clamp 1
13 8SB44400407K |Screw(C030203 9/64"-40*4) 2
14 8SK56320608A |[|Screw (C030204 7/32"-32*6) 1
15 2200030218 Tape Guide Holder 1
16 2200030219 Stud 2
17 2200030220 Washer 1
18 8MC04280807D |Screw (CTO130 M4-0.7*8) 2
19 8SA44400307A T;TS()SHOQJ'AP 11/64°-40 2
20 2200030223 Tape Guide Holder 2
21 2200030224 Tape Guide Holder 2
22 2200030225 Tape Adjusting holder 2
23 8SN44400400E |Screw (SHO104 11/64"-40*4) 2

* Customer ltem




